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Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 42

Number of Questions to be attempted : 42

Section Marks : 100

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 5521311214
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 55213113754 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s/are not true about teaching?

Options :
Analysis and Assessment of Teaching Provide Feedback for Further Improvement m
Teaching Method.
2758 w0 0l DFke S09Y g BEBY DrHBESTR8 Ageca T ety
55213154001.
It Involves Communication Skill.
S S8560 BYres A0
55213154002.

It 1s a Process Not an Act.

B0 &8 HF0o IrED W, &3 BB
-

55213154003.



It is the only means to provide knowledge.

DATDH HOPTY) LoSEIDTIS HBS FEIo
55213154004.

Question Number : 2 Question Id : 55213113755 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

According to modern concept of teaching learning process the position of a teacher m the class-
T00M IS
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Options:

A chairperson

.8 efHAe
55213154005.

The Umpire

Tl APBI Q0pdre
55213154006.

One of the member of the group

JBrirod® ws0m
55213154007.

The director of the group

RDeFERS8 B Ham
55213154008.

Question Number : 3 Question Id : 55213113756 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following statements is correct with regard to relationship between syllabus and
curriculum?

DD (o8 0o o7 (Gerde iy Jomoged) FPDod B3 ($8aRGN
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Options :

Syllabus 1s a part of curriculum.

DRAD (SHeS Doy (Bee@5E® gerio
552131540009.

Curriculum is a part of Syllabus

DT [Berds DRAD He358° gerio
55213154010.

Syllabus 1s an annexure to curriculum.

DR (FHesrds Doy (Der@SH edhoogo

55213154011.

Curriculum is an annexure to Syllabus

D (Dez@S DAAD (DS edhnogo
55213154012.

Question Number : 4 Question Id : 55213113757 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Which of the following skills are not a must for present day teacher to adjust effectively with the
classtoom teaching?
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Options :

Knowledge of technology
ok
55213154013.
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&5 Hoeeiio
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Use of technology in teaching learning

PETgrIIE° FOSBIE DATITo
55213154014.

Knowledge of students' technology based needs
AlnpyeriIisViEsleletlelaTela Ty FoSEH3E urrld uddoe HBoRKo
= =
55213154015.

Mastery of preparing technology based programs

FOS8S uprod Y Eire Sairts’ s
55213154016.

Question Number : 5 Question Id : 55213113758 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
The students who keep on asking questions in the class should be:

S81186° S5 (BHeEN dohed
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Options :
encouraged to find answer independently

Sradore Sarrrares 5055508 (@88 20D
55213154017. ~ b 2



advised to meet the teacher after the class

SBHS Bo78 &arpRdind) Sodaed
55213154018.

encouraged to continue questioning

BEodSeeR) @PSEromd
55213154019.

advised not to disturb during the lecture
&dHTN0 e’ vwoso SDOITER Kool
55213154020.
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Question Number : 6 Question Id : 55213113759 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The depth of any research can be judged by:

e.8 HOES S*d &R Troe ATBoSS)
]

Options :
title of the research.
OGS 403
55213154021.
objectives of the research.
HOSES O
55213154022.

total expenditure on the research.
5838
55213154023.
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duration of the research.

D05 oSt
55213154024. =
Sub-Section Number : 2
Sub-Section Id : 5521311215
Question Shuffling Allowed : Yes

Question Number : 7 Question Id : 55213113760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following is not a Method of Research?

Bod TS DO HOI’GI DS o
Options :

Observation

../ (=)
Sdes

55213154025.

Historical

FO(EE)s
55213154026. &

Survey
S
55213154027.

Philosophical

Efﬁf;é
55213154028.

Sub-Section Number : 3

Sub-Section Id : 5521311216



Question Shuffling Allowed : Yes

Question Number : 8 Question Id : 55213113761 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Action research is
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Options :
An applied research
2.8 @508 D05
55213154029.
A research carried out to solve immediate problems
See DR BOHOoSERS B0 VO ES
55213154030.
A longitudinal research
Edsee HOES
55213154031,
Simulative research
SO S PErL DO
55213154032.

Question Number : 9 Question Id : 55213113762 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Generalised conclusion on the basis of a sample 1s technically known as:

J L o
2.8 (HBI0TS H0ED0DN oo FoSr

Options :

55213154033.

55213154034.

55213154035.

55213154036.

Question Number : 10 Question Id : 55213113763 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Data analysis and interpretation

Soeod DFXes SO o8 TolRh

Parameter mference

Statistical treatment
%oawe “"“c‘i ©:03IBRO

Subjective interpretation

m 5 ,:“ m— .
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Correct Marks : 2 Wrong Marks : 0

When a research problem is related to heterogeneous population. the most suitable sampling

method 1s;

2.8 doFdrodo JAH ard JoLIBN 8N (@
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Options :

55213154037.

Cluster Sampling

TR h:.-ﬁ't.l'ifom(}



Stratified Sampling

SE8\¢8 (HBSADHK0

0 &

55213154038.

Convenient Sampling

winired [R8Icho
55213154039.

Lottery Method

el D58

[

55213154040.
Sub-Section Number : 4
Sub-Section Id : 5521311217
Question Shuffling Allowed : No

Question Id : 55213113764 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0 Allowed Progression :
Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : Yes

Question Numbers : (11 to 15)

Question Label : Comprehension



Read the passage and answers the questions from 11 to 15:

George Stephenson and his son Robert Stephenson made a tremendous contribution to the
development of railways. George did not mvent the steam locomotive. but he ensured that the
nsights and discoveries. which were beginning fo come together from a variety of sources. were
engineered into a practical machine. In this context. a man of relatively humble origins became one
of the world’s greatest engineers. He was brilliantly pragmatic m ensuring that his son. Robert. was
given all encouragement i assisting the engineering of the early railways.

The passage of time has done nothmng to pale the remarkable achievements of the two Stephensons
(for it is unwise to separate father and son). Their mventive genius was most brilliantly displayed.
probably, during the year 1829-30, but this was surely not the end. They stamped their final mark
on the shape of the locomotive when m 1833 they added a pair of carrying wheels behind the
firebox to produce the first 2-2-2 engine ‘Patentee’. This became a benchmark passenger type in
both France and Great Britain and was built in the Great Britain until 1894. Their final major
contribution was in 1842 when they were the first to provide engines with a link motion valve gear.
This was a fascinating invention, which was so extremely suitable for locomotives that it was still
being used for new construction m the last phase of the great days of steam.
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Sub questions

Question Number : 11 Question Id : 55213113765 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes



Correct Marks : 2 Wrong Marks : 0
Both George and Robert Stephenson’s contribution to Railways was

=8 S0 oo VIR BEen TS Feto

Options :

Inumense

Ay :C ! S%l....
55213154041.

Sparse

?%E"&nﬂ
55213154042.

Outlandish

Sgizg T

55213154043.

Impractical

Ex‘ﬁﬁtﬁ-ﬁﬂ"ﬁ:c} =20
55213154044.

Question Number : 12 Question Id : 55213113766 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
Yes

Correct Marks : 2 Wrong Marks : 0

George in his younger days was a man of

Options :
Wealth

NEVel VA
55213154045.



Hard work only

55213154046. B
Poverty
Fnielcle)
55213154047.
Lowly background

BED Arow VG0 SoTd
55213154048. i

Question Number : 13 Question Id : 55213113767 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

George was brilliantly

=5 ‘&uﬁ;:;w% He
Options :
Idealistic
55213154049. S
Foolish

55213154050.



Practical

e300
55213154051.

Selfish

f%vmtﬁa’atﬁacﬁa
55213154052.

Question Number : 14 Question Id : 55213113768 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

The first 2-2-2 engine ‘Patentee’ became a/ an passenger type in both France and
Great Britam
), 065 Qeofod® 2mtié 2-2-2 abogo DB Pordde B 85055 DoaRe.
Options :
Standard
(ST @R
55213154053.
Enviable
OraD DAY
55213154054.
Routine
SRBTBS
55213154055.

55213154056.



Mundane

Question Number : 15 Question Id : 55213113769 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
Yes
Correct Marks : 2 Wrong Marks : 0

In 1842. they were the first to provide engines with a link motion valve gear whichwasa

mvention.

1842 & K;oﬁé;éoéﬁ T8 TiGardre Fmp DS > 18 S0ERQ R Den B0uln Sar

f‘

ORI
Options:
Multipurpose
Def ([BEreis=l
55213154057.
Utilitarian
Su@rriso
55213154058.
Multilevel
sapenel ot oy
552131540509, i
Mesmerizing
RdolgemE 5o 87 YoXa)
55213154060.

Sub-Section Number : 5



Sub-Section Id : 5521311218

Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 55213113770 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The speaker and the listener carry with them certain ideologies, world-views. beliefs. likes and

dishikes whichformthe
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Options :
Style
39
55213154061.
Aptitude
Neea s &o
55213154062.
Attitudes
55213154063, =500
Views
:e/ \TIPEN
55213154064.

Question Number : 17 Question Id : 55213113771 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
The speaker has to possess adequale of the message that 1s to be transmitted.

5 &R SRl ) \“ 5 Hoow Romofod) #hdod 300 soldennl

Options :

Replies

55213154065.

55213154066.

Reactions

58 ﬁﬁﬁu,
55213154067.

Knowledge

.
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55213154068. ~

Question Number : 18 Question Id : 55213113772 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Fluency. clarity and intelligibility of pave the way to effective communication.
598 3020009 ©F NEEE, )38, SEBhen [HepSNosRa gre (HR8eD POEIROD.
Options :
Command
TROD

55213154069.



Channel

Td
55213154070.

Path

o
55213154071.

Expression

w856
55213154072.

Question Number : 19 Question Id : 55213113773 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The effective use of consists in selecting appropriate words and patterns of sentences

while comnmnicating,
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Options:
Language
FR
55213154073.
Crrcumstance
Do

55213154074, =



Idioms

néseto
55213154075.

Connectives

NOTRCTRED
55213154076.

Question Number : 20 Question Id : 55213113774 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Communication 1s sustained and it becomes effective onlyina/an _ ambience.

dendod J0sTed® ord (K80 Prrddodore sob RlspioeiSvisvolly i etavelal

Options :
Intellectual

L858
55213154077. »

Indrvidual

S
S
55213154078.

Clean

DS
55213154079.

Complex
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Sub-Section Number : 6
Sub-Section Id : 5521311219

Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 55213113775 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

A car covers a certam distance with speed 60 kmph and returns to the starting point

with a speed of 40 kmph. The average speed (in kmph) for the whole journey is
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Options :

50
55213154081.
55213154082. e

100
55213154083.

52
55213154084.

Question Number : 22 Question Id : 55213113776 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



In a certan population, the ratio of number of women to the number of men1s 6 ; 5. If
the average age of the women is 34 years and the average age of the men 15 32 years.
then the average age of the population ( in years) 1s

28 D0 Z2TFS DT D093 HDDO B3 6 1 5. DO HKE SoHD 34
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Options :

321
55213154085.

33
55213154086.

331
55213154087.

335
55213154088.

Question Number : 23 Question Id : 55213113777 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

‘A’ loses 10% by selling an article. If the cost of the article 1s Rs. 15, then the selling

price of the article 1s (in Rs.)
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13.20

55213154089.

16.50
55213154090.

12.30
55213154091.

13.50
55213154092.

Question Number : 24 Question Id : 55213113778 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Tap ‘A’ will fill a tank in 30 minutes, Tap ‘B” will empty the tank in 3 hours and tap

*C" will empty the tank 1n 4 hours. If all the taps are open at the same time. then time

required to fill the tank 1s ( in minutes)

Pt 'A' 30 Qo) ﬁ‘ﬂﬁs eys05 m a)e0A. erte B, 3 nuuﬁf ers08 cw’@.,f SATOTA
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Options :

17/ 720
55213154093.

Pt S B
55213154094.

420/ 17

55213154095.



390/ 17
55213154096.

Question Number : 25 Question Id : 55213113779 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The missing number in the sequence: 6. 27. 128, . 3130
D (E0eS SoDS Hows: 6. 27,128, L 3130
Options:
529
55213154097.
629
55213154098.
729
55213154099.
829
55213154100.

Question Number : 26 Question Id : 55213113780 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

‘PROFESSOR’ 1s coded as ‘KILUVHHLI'. then *‘STUDENT" is coded as
‘PROFESSOR’, ‘KILUVHHLI" 7T §G S ah2308. @y ‘STUDENT’ Gwé), &6



Options :

HGEUVNG
55213154101.

HGEUWNG
55213154102.

HGEFWVMG
55213154103.

HGEWVNG
55213154104.

Question Number : 27 Question Id : 55213113781 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

‘ROCKET" 15 coded as ‘913564"and ‘LITTLE’ coded as ‘024406’ then the code for
"‘CRICKET' 1

'ROCKET', 913564° T §& Dohadod SHdokw 'LITTLE, 024406 I §& Tohadod.
900~ 'CRICKET' 3308), §6

Options :

3943654
55213154105.

39324064
55213154106.

3923564
55213154107.

3923654

55213154108.



Question Number : 28 Question Id : 55213113782 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Pomnting to a person. A said, “He 1s the only brother of my father’s mother’s

daughter”, The relation of the person to A 15

28 588 HoDE, A o), "w Sof O 50570 BE) ~38 FODH". wond @
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Options:
Brother
PCHENCD
552131541009.
Father
0|86
55213154110.
Uncle
232301 / 9%
55213154111.
Nephew
HSeRts / SeandS 0 HIPHE
55213154112.

Question Number : 29 Question Id : 55213113783 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

The odd one among the following 1s
808 S D&Y, 28 HOFOIS
Options :

Baseball

ﬁﬁf" iy &
55213154113. .

Boxing

zr8yoh
55213154114,

Chess
5580080
55213154115.

Wrestling
d2oh
55213154116.

Question Number : 30 Question Id : 55213113784 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

[

In a cerfain code, “+" mean ‘x’, ‘x’ mean ‘-, ‘~* means /" and /" means ‘+'.
Using these code operators, 16-2+4/16-8x 213

28 A0 ﬁ’r’(ﬁ, '+ 0B 'x'; 'x'®@O® - - @o® '/'; Hbcw
@B "+'. & §6 O &IBP0Y), 16-2+4/16-8x2 WO

Options :

15
55213154117.

55213154118.



2

55213154119.

32
55213154120.
Sub-Section Number : 7
Sub-Section Id : 5521311220
Question Shuffling Allowed : No

Question Id : 55213113785 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0 Allowed Progression :
Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : Yes

Question Numbers : (31 to 35)

Question Label : Comprehension



Note: The questions Q. 31 to Q. 35 are based on the following information.

A0S (239700 Q. 31 0B Q 3558 , 308 NrTdo SErdOT G oN.

w

The population, literacy rate, No. of women for 1000 men and percentage of rural
populations of five states are presented m the following table.
D& T 2, ofThd 06, 1000 50O HHO%H DrFe o HOH

3y o
Faom ziwer 760, & 8od S 50800,

States | Population | Literacy | No.of women | % ofrural
Tlfe) | (zaver) | Rate per 1000 men | Population
(Lakhs) | (@8 | (Darde doms | (e 7o

@&o) 6@3] 1000 )000) ATVRAR

A 1500 70% 970 45%

B 2500 61% 951 62%

€ 600 85% 1021 51%

D 400 90% 992 39%

E 850 80% 989 42%

Sub questions

Question Number : 31 Question Id : 55213113786 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0
Which state has the highest number of illiterate people?
AOSTrAnLe @S QOWMED ) T°ladO

Options :
55213154121.



State A
O° 0 A

State B

0220 B
55213154122.

State C

W,

070 C
55213154123, -

State D
7|0 D
55213154124,

Question Number : 32 Question Id : 55213113787 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

The total Urban population is
HNEBO HEIED BT

Options :

3044
55213154125.

2806
55213154126.

1725

55213154127.



4125
55213154128.

Question Number : 33 Question Id : 55213113788 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0

The number of women population in the state A is ( rounded to integer)

5,

I Wy '-\'6 .- W £ e |
‘A TR0 YO By DODE (SF°Q Do)

Options:

739
55213154129.

761
55213154130.

970
55213154131.

1455
55213154132.

Question Number : 34 Question Id : 55213113789 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0



The total percentage (nearly) of rural population 1s
B0 |JEd 2y 7o (SHST)

Options :

41
55213154133.

45
55213154134.

52
55213154135.

50
55213154136.

Question Number : 35 Question Id : 55213113790 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0
On the overall. percentage of literacy rate (nearly) is

B3NS0 N, L Te0s Bew Fho (SHST)

Options :

521
55213154137.

65.3
55213154138.

55213154139.



70.5

55213154140.

Sub-Section Number : 8
Sub-Section Id : 5521311221
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 55213113791 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Which of'the following is a low level language 9

& (808 &6° 0 Low Level oy ?
C

Options:

Assembly

{-.—aﬁo;;
55213154141.

Java

e
55213154142.

ADA

=0 =

Gt i QL
55213154143.

e

o,

25

55213154144.



Question Number : 37 Question Id : 55213113792 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Number of bytes in 1 GB 1s

1 GB &°2 bytes © Jogy,......

Options :

1024TB

1024 &o= Téw
55213154145.

1024 B

1024 Bep
55213154146. -

1024 MB

1024 Jorr 2én
55213154147.

1024 KB

1024 36° Bey
55213154148.

Question Number : 38 Question Id : 55213113793 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



The full form of MODEM 1s
MODEM D_'JJJE; 6'3%__“51:::

Options :
Modulator and demodulator
Sl Hbukn BSrEBed
55213154149,
Modem mobile
(Tavr]e] E@Qﬁ
55213154150.
Modulator embedded
SrErBed NoB&E
55213154151. =
Moderator demoderator
8008 &SrEDes
55213154152.

Question Number : 39 Question Id : 55213113794 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

.......... are set of rules and procedures to control the data transmission over the internet

2005386 Gir (HFodd T8 Adhdres S0 HEHe Sen....
Options:

IP address

IP &%arad
55213154153.



Domains

DT G@sn)
55213154154,

Protocol

Feo=at
55213154155.

Gateway
55213154156.

Question Number : 40 Question Id : 55213113795 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

NMEICT stands for

NMEICT esre

Options :
Nation Mission for Education through ICT

- - - - 1
JNS XS PO AByEAD (B 02D

55213154157.
Nation Mission for E-commerce through ICT
JHT DT P8 vzl (@ oS
55213154158. ¥

Nation Mission for E-governance through ICT

=

L

38 AT $5 a-riSY)T) (& 0d
55213154159. -



Nation Mission for Entertainment through ICT
JET AT $8 2068850t (e 28

55213154160.

Sub-Section Number : 9
Sub-Section Id : 5521311222
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 55213113796 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which agreement set in target of 5% reduction in carbon emissions against 1990 levels?

58)3 smood 1990 &ow So 8 5 wo dNowred eyl Mgawods e.djoto 207

Options :
Paris agreement
arCR e.dfjotio
55213154161.
Stockholm Agreement
5 Trro adolio
55213154162. = g
Kyoto Protocol
e
o
55213154163.

Berlin Agreement

DO a.D0ko
55213154164. i

on



Question Number : 42 Question Id : 55213113797 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The maim gas responsible for ‘climate change’ 1s

Options :

NDJ
55213154165.

CO;

sHhe & &6

= ey

55213154166.

CcO

sE)m PR
55213154167.

NOJ

2B
55213154168.

Question Number : 43 Question Id : 55213113798 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Eutrophication of fresh water lakes occur due to

$00DE e CrErHERS AATON athrh
Options :
Addition of excessive organic matter. phosphates. Nitrates
o0 Herdo PR, DS JENSM TsLo
=@ Oy T —— (L
55213154169. 3
Addition of only Phosphates
PR SRED Jseo
55213154170.
Addition of rain water
583 A BBeo SO
55213154171.
Drying up of lakes
RDB0en QoberHeo
55213154172.

Question Number : 44 Question Id : 55213113799 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Which of the following is not a cause of soil pollution?

3 (808 EE° Jo renardd DO 8o S°?

Options:
Pesticides

[orn soothen
55213154173.



Fertilizers

B0a)ED
55213154174.

Excess salts

@05 eoren
55213154175.

Compost

S’DEB‘ET’-%:
55213154176.

Question Number : 45 Question Id : 55213113800 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The concentration of CO, in the atmosphere is kept in balance through

FES808® CO,MEEn Jseomr ¢oid
Options :

~0O, fixation i photosynthesis

C
88coa2y HodmiS (Sae® CO, P
55213154177. ]

CO, release 1n respiration

TR8avs® CO,Dtbte
55213154178. i

(2]

Carbon cycle

55 S50
55213154179. =



Degradation of organic matter

Eolellaless sa‘mﬂg QPR

e

55213154180.

Sub-Section Number : 10
Sub-Section Id : 5521311223
Question Shuffling Allowed : Yes

Question Number : 46 Question Id : 55213113801 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Which of the following is NOT an mtegral part of formal education system of our country

HITEER Fodmrad A Jue; 3 —o@” wodmyio R

Options:
Elementary Education
QOoert DS
55213154181. =
Primary Education
[@rE0E D
55213154182.
Pre-Primary Education
PO (PGS
55213154183.

Higher Education

-ru M) \:qu“
55213154184.



Question Number : 47 Question Id : 55213113802 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Approach towards Higher Education should be

Options :

Employment oriented

& vrrldo
55213154185.

Imparting knowledge

DRI B D0z woliodto
55213154186.

Charity oriented

o @Eﬂ;c‘;ﬁo
55213154187.

Investment in human resources

IPRD SdBedt enad
55213154188.

Question Number : 48 Question Id : 55213113803 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



The mamn aim of vocationalisation of education is:

S8 N (AeS AR
‘“&:E% Q.-'Dﬁa kE‘JI.?I o é‘EUEJD

Options :

Preparing students for a vocation mstead of knowledge

DLXAH BOPRO DHed WD HEES® Jodhed Tabio
55213154189. ! '

Converting liberal education into vocational education

a8 DD 5‘3@@ D eGS0
55213154190. -

Giving more importance to vocational than general education

RS QST @ DD 250D (EPTERrSER BErto

o = T ) 5 < G

55213154191.

Making liberal education skill based and field experience based

&IPS AL Jyeese iy g urld Y™ Erfovvilevimlovsiate)
55213154192.

Question Number : 49 Question Id : 55213113804 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The purpose of value education is best served by focusing on

Dendie A oFo LD YR Solsbosto oo JBTWeEol
] ) bl [ =¥

Options :
Cultural practices prevailing in the society.
Qaraod® &F) Arok) 85 emrrred ardodto
55213154193.

55213154194.



Norms of conduct laid down by a social group.
2.8 el H%o E-':-E:I 2088 Adhadren ardodto

Concern for human values.

2wt

S Dende D& wolPER

55213154195.

Religious and moral practices and instructions.

SDENBIN DA FSS5DER eororen 0O JVredden
55213154196.

Question Number : 50 Question Id : 55213113805 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Indian Parliament can legislate on matters listed m the State list;

68 RG0S5 TEpdE o0 eore SQIE° Ko o ©0¥oR ApHd o TSR,
Options:

With the prior pernn'ssi-:-u t:-f the President.

TP(5308 Swoliy) ©9dnnss”
55213154197.

Only after the constitution is amended suitably.

NS DSorre orerroll B98I Sond SRS
55213154198. = -

In case of inconsistency among State legislafures.

m@a: Sepe S edoagds e9HW
55213154199. )

55213154200.



At the request of two or more States.

Both Tor wodST) QXN TEre Dgsy W

= - =

POLITICAL SCIENCE
Group Number : 2
Group Id : 552131182
Group Maximum Duration : 120
Group Minimum Duration: 120
Show Attended Group?: No
Edit Attended Group?: No
Break time: 0
Group Marks : 200
Is this Group for Examiner?: No
Examiner permission : Cant View
Show Progress Bar?: No
POLITICAL SCIENCE
Section Id : 552131182
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 100
Number of Questions to be attempted : 100
Section Marks : 200
Enable Mark as Answered Mark for Review and Ves

Clear Response:



Maximum Instruction Time: 0

Sub-Section Number : 1
Sub-Section Id : 5521311224
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 55213113806 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Equality may be a fiction but nonetheless one must accept it as a governing principle” stated by

G o o st o oy oL oL & PR e h W o - £ B = o =B, L
Seriddn S0 wdhd, R oA ared @il edrdolhenod”, e TaI8.
e

Options :

Karl Marx

SieTvte
55213154201. o e

Dr.B.R. Ambedkar

= 9.8, womithb
55213154202. g

M.N. Roy

2%, oD, oodd
55213154203.

John Locke

sPn €8
55213154204.

Question Number : 52 Question Id : 55213113807 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

Which one of the following is not a major characteristic of Citizenship?
Bod A" T3S sy oFedn =AH?

b,

Options :
Seeking the Authority
BSESD SRS Gsm
55213154205.
Allegiance to state
oeern 8 P
55213154206.
Enjoyment of civil and political rights
8 Sookn Trasad PR SOAGHONED
55213154207. -
Desire to promote general happiness
©oi0 V08P DoTFohoTOD SHE S0
55213154208.

Question Number : 53 Question Id : 55213113808 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Consider the following statements and choose the correct Code.

Bod [BEeded 56 KoFhH Sthd voodE

i. Bentham is a theorist of positive freedom
Do JoEE ) REpoEs

ii. According to seeley ‘Liberty is the opposite of over-government.
T (Poobin ‘@8- (HIPHSENSD FEOSHIG Ty

ii. Rousseau advocated positive liberty

RemedE i) GrRP (RaTFa0TD.

Options :

ionly

| Sl
552131542009.

ii and iii

i snCci iii
55213154210.

i and ii

| sOCiw i
55213154211.

i and iii

i soOcXo iii
55213154212.

Question Number : 54 Question Id : 55213113809 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Which one of the following statement is not correct?

Bod HE* JOFHS Tgy 8

Options :

Lord Birkenhead opined that all men are equal s a poisonous doctrine

‘VOUE SPRHL PErHT B8 DSOS drpodan o °'°5 5)3‘*% o ZCHHETH
55213154213. 4

Sir Ernest Bern writes that economic equality is a “Scientific Possibility’.
c\.ém _"L__Cﬁl %"Cﬁé @l &8 ma“ 55 k__'bw .

&
D
(.

55213154214.

R.H Towney writes that "The word equality possesses more than one meaning

LVaeHEan o Hsn .58 5§) 8P @iﬁm&o EDNCONG™.
55213154215. -

"All are equal in the eyes of nature * was said by Roman lawyers
BEHB HRG* wotitr JErd ol TG TN Trohaehe

==

55213154216.

Question Number : 55 Question Id : 55213113810 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Match the following

S0k O wEdth

List =| (Philosophers)

P - S35

G el

1. Thrasymachus

TR RER

List-Il (statement)

. Justice constitutes in the discharge of duty of every individual

8§ o8 &3 B AWrerotitilnd Faban wod
38 2.5 & DY Aorkrouiane® kN Bowod

2. Gloucon . Justice as the interest of stronger
pica DeH0s [Hareda by
3. Cephlus . Justice as the interest of the weak
NFreR DOERDY (BEPESD b
4. Plato . Justice consists in speaking the truth
o e T)imE™ 7oy wokood
Options :
1-b, 2-c, 3-a, 4-d
55213154217.
1-c, 2-b, 3-a, 4-d
55213154218.
1-b, 2-a, 3-c, 4-d
55213154219.
1-b, 2-c, 3-d, 4-a
55213154220.

Question Number : 56 Question Id : 55213113811 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Assertion (A): Aright is related to one particular end

(D&BRES (A): &8 QJEHS OEINND $on0hodS L)

Reason (R): Rights are product of human evolution

e (R):

Options:

55213154221.

55213154222.

55213154223.

55213154224.

S8 DoOerED vHBGDH e
(A)and (R) are true but (R) is correct explanation of (A)

(A) 005 (R) €0 Both POTHSS 00w (R), (A) % K0TS D553

(A)and (R) are true, but (R) is not the correct explanation of (A)

(A), (R)en S0G05S, D (R), (A)H S0 D6 oo

(A) is false, but (R) is true
(A) 82p, =0 (R) e.dp

=

Question Number : 57 Question Id : 55213113812 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable :

Correct Marks :

Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

2 Wrong Marks : 0



Match the following

508 TEH SN5haw

List =l (Author)

eflE - (Bidowes)

1. Rachel Carson

oPTe S

2. Harrimon and Ehrlich

e P e Dt
SEom snoc E":'L..-w

]

3. Bookchin

List-11 (Title)

el - (B53)

How to be a survivor

Fen D O 5556

The silent spring

& 200 Ryoh

Ecologism: An introduction
Qerd Ead N ao@ﬂﬁﬁ
The ecology of freedom

& Jred uh DI

1-b, 2-d, 3-c, 4-a
55213154225.

1-c, 2-a, 3-d, 4-b
55213154226.

1-b, 2-a, 3-d, 4-c
55213154227.

1-d, 2-b, 3-a, 4-c
55213154228.

Question Number : 58 Question Id : 55213113813 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Which one of the following statements is not correct?

8od =&

Options :

55213154229.

55213154230.

55213154231.

55213154232.

YOI R8.

Betty Friedan explored what she called * the problem with no name’.

-

DG B By DY (FrowtS S°HoA[

‘First wave’ feminism ended with the achievement of female suffrage

P Ltn ) FPEIS QTS TES v IIPSTI6.

‘The Dialectic of Sex’ is written by K. Millett

& 3828 8 R

. . e T
500958 3. B

Vindication of the Rights of women' was written against the back drop of French revolution

DodEER ©F 3d) 0D JDT (Bl A JEne® sRoa.

Question Number : 59 Question Id : 55213113814 Question Type : MCQ Option Shuffling : Yes
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Which one of the following is not a central belief of conservatism?

- . —-— -
~PORDIPADE T8 Soll DERaw =G

Options :

55213154233.

55213154234.

Property

o]
o
(]

Human perfection

o & Al I
sy @Jua:lg;é



Tradition

FrolHTrobain
55213154235.
Authority
DlRlcLleEvhe)
55213154236.
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Choose the correct code with regard to social democracy?
PrES (PePTrEns Sonodod JOFTS SED rHooEm

i. Redistribution
ii. Utopianism
?&;&éﬂnc‘jm

jii. Central planning

iv. Reformism

ﬁoﬁ;ﬁﬁmaﬂtﬁm
Options :
| and iii
s laloviolli|
55213154237.

55213154238.



i and iv

i andaiw iv

i and iv

| s08C0 iv
55213154239.

i and iii

ii s i
55213154240.
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Match the following

E0& TEHY wSHGHAW

List —I (Author) List-11(Title)

oefles - =S -~

1. Frantz Fanon a. On Revolution
3708 PR e 0RerihS

2. Hannah Arendt b. Elements of Philosophy of Right
) ©Bod Q8T 6T 2erd o B

3. G.W.F.Hegel c. The GreatLearning
.85, P NS & ¢S o0)oh

4. Confucius d. A Dying colonialism
S0 RADR SBowohn E&PAchden

Options:



55213154241, | 2@, 3-C, 4-d

1-d, 2-a, 3-b, 4-c
55213154242.

55213154243, | ~C 270 3-a. 4-d

1-d, 2-b, 3-a, 4-c
55213154244.
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Aristotle defended the rule of law because it provided:

iﬁr&géﬂaa@ %Eﬁ ﬁgofﬂbﬁﬁ DOLHBSH 08 & 500D

Options :
Stability and reason
ROS 0 OO SO
55213154245, ©
Equality and liberty
SEvv ST vV elenty L
55213154246. e
Authority and Influence
whselan Do (Porsdam
55213154247.

Justice and rights

TR0 sOoin &éa;a::
55213154248.
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Machivelli's morality of success of state does not include:

LECHIY TN ey ch JBESS® SIS

Options :

Politics is a means to truth

Qms Srdam oeedoimen
55213154249. =

Protection of Citizens

Do Bl
55213154250. e

Safe guarding national interests

pECH (BAreTod HOBFosSED
55213154251.

Guaranteeing the well being of people

DeFT0WID B B
55213154252.
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Consider the following statements and choose the correct code

Bod (FEadeid Sordod S0 58D Hoodam

.. Plato borrowed the idea of ph|losopher king from pythagarus
§ (409 greiissd R RIBR ool WE00LRLH

li. Plaato didn't dislinguish political from other dimension of life

2 craldired £330 86 Srreiod I SR

lil. The Republic explored the notion of justice and its realization within the individual and the

state
336° H008 TrayEng® ah S Srosdnd & 0585 ol

Iv. Plato was the first to emphasize the problems of universals
DEadise Soed Trdolis sl

Options :

i and ii

i a0OA% ii
55213154253.

i and iii

i a0 iii
55213154254,

i, il and iv

ii, iii 00w iv
55213154255,

i, iii and iv

i, iii s00Cw iv
55213154256.
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Correct Marks : 2 Wrong Marks : 0
Consider the following statements and choose correct code:
8ot e $560 $0@N 55D HBod
. Hobbes concluded that that physical laws clould be the basis of human psychology and
behaviour
SRR HRES ook (5580 Fas wt‘;?@ Enito AR “w Qmu,oqmcfo

—t

ii. Hobbes accepted the arguments of skeptics
Sodirmihe PUReRD ) eIrhodmd

lii. By equality, Hohbes meant equal ability and the equal hope of attaining the ends
SR @‘@%cﬁ}) D00 egew TR K o3, S’JBajjéa SN

Iv. Sovereignty characterized the position rather than the person who weilded it.

POFOE O Adron 38K FrEdd Jeakob.

—t

Options :

i,ii.iii and iv

1,ii,iil s00C3 iv
55213154257.

iiii and iv

il s00c iv
55213154258.

i and iv

ii s0OCw iv
55213154259,

i and iv

i s0dain iv
55213154260.
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Locke insisted that the community would be ruled by

Jairesin A0V BOTPOOBBHIN Dbl &8 Tyed

Options :
Will of the majority
Der0d (Pue 508
55213154261.
Consensus among the people
e & D[S
55213154262, © A
The sovereign
RO T eT0
55213154263. o
Will of the individual
58 s°08
55213154264.
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According to Rousseau, the most fundamental relationship of the human individual was with:

G efaraing® 83 oFod DY Kooty vl

Options :

55213154265.



55213154266.

55213154267.

Nature

D58
55213154268.
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According to Hegel the guide to human existence is:

- ) - — P
SPSIN ©lES IrERG), TFNS (Bs8aw

Options :
Reason

5-:, £  m
552131542609. Seasd

55213154270.

55213154271.



55213154272.
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Which one of the following is not related to individual character as regarded by J.S.Mill?

113

S8 olnsnsd Sonotisn SO B.OR.D08 B HoKBodme

LY

fo
©

Options :
Civilization

05

55213154273.

Education

e
=

55213154274.

Culture

Wl
a0 Qalmeg
&

55213154275.

Language

o)
55213154276.
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Correct Marks : 2 Wrong Marks : 0
Assertion (A): Karl Marx stated that state and bureaucracy did not represent universal
interests
B8R (A): oo 008y &K Ao DR PAramreD @8 Strod o
R0 Taryd.
Reason (R) : Economic interests play dominant role in the state

99 R): Taging® 608 e ehdY PED B0

Options :
(A)and (R) are true but (R) is the correct explanatmn of (A)
(A) 0o (R) e BotdH SO 00a (R), (A) B L0G0% D8
55213154277.
(A)and (R) are true, but (R) is not the correct explanation of (A)
(A) oCcimw (Rlen & o‘:‘oﬁ?.s =D (R), (A) ROGHH Do =Rt
55213154278.
(A)is true But (R) is false
(A) ey =0 (R) 85p
55213154279. =
(A) is false but (R) is true
(A) 85y =0 (R) 2.8y
55213154280.
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Which one of the following statements about M.N. Roy is correct.

dee. 20 Tedo § Vowogoh) KON TERN BenHxn

Options :



He was DppDSE to private property

e &) fol=TolAvilnb)
55213154281. =

He was opposed to co operative economy

ISEupicsle! rs-_aué ‘““aﬁ“’“““ 3l &080DTRD

55213154282.
In the ‘Organised Democracy ' the ultimate power rests with political parties
wa‘igﬂ%@ @:svmﬂﬂs’i:u".m:ﬁ‘ ©o8H wOEID TadcD Le'i",:e;: 5 Dotheod.
55213154283.

Organised Democracy is based on the principle of decentralisation

TS DTofEdn SRBEINRD 3 ;.E;:%é (DePipsn OTEIGS
L]

o

55213154284.
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Which one of the following is not correct about Ambedkar ?

Bod TEE* ©oTEE HOoAI JOIS T =08 ?

&

Options :
He founded the All India Untouchables Leaue in 1932
o8 20805 oS DA% 19326° ol
55213154285. o

He was infavour of a loose confederation

R5Y JSEFInsD eEresD TrPLTm
55213154286.



55213154287.

55213154288.

He favoured separate state of Pakistan

k=

S8 FEES Doz BHYoNT

Social Justice means giving oppurtunity to each of every person in every sphere of life o
develop one persunality

ADSE50E° (98 2 eldloyny :gé; DTPRIMND (@8 85 ededinen éb;oiﬁaea?& NV

d

i

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.
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Consider the following statements about Savarkar

IO Bonosods wEnesh Blridogaw

I. He formed a political group called Hindu Bharat

220t P8 o Temdoh SHEENS FHoNTD

&

ii. He supported the suspension of non co-operation movement
JFEch JoeEBe i JenPlion BERYTPLD.

ii. An inter caste marriage does not make one non Hindu

Herods Dty TToBISHY) VDD

iv. He opposed untouchability

©J)EBD 2“5

OE-

Options:

55213154289.

Svlay

U;n

iii and iv

jii so0aiw iv



iandii

i a00a ii
55213154290.

i, iii and iv

i, iii snOc iv
55213154291.

iand iv

i a0DC iv
55213154292,
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Which one of the following is not the condition for the Zawabit for its formulation put by Barani?

D8 ErH50)SS 0T SrD0IN Teid Gokee* w58 96,

Options :

Zawabit should not negate Shariat

200HE 2rdE oSSEREDS
55213154293.

It must increase loyalty and hope among common people towards sultan

DRl DTSN (HPaod DPDS HO0H S8 DORPoBOLSTDL
55213154294. = o

Its source and inspiration should be the Shariat

PR ey HO (RS RO 5T
55213154295.

55213154296.



Zawabit can negate Shariat to protect the state

Trey 85 S8 OCHED wardS UkHmy
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‘Which of the following is not part of six expedients (Sadgunaridhi) of policy advocated by
Kautilya?
Thont ({8800 o eHARIES dFsined® w88 08
Options :
Co-operation (sandhi)

55213154297, NerSPORD

Military expedition (yana)

28 BorciHs
55213154298.

Division of troops (Dvaidhibhav)

28 e Diea

55213154299.

Dissension (bheda)

@éﬁé&i
55213154300.
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Correct Marks : 2 Wrong Marks : 0

Which one of the following is not correct about Ramabhai?

-

Balrerons

55213154301.

55213154302.

55213154303.

55213154304.
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o050 VODIE V6

She founded Dravida Mahila Sabha

PR S0ErE D FRoDD
&

Published the book the High caste Hindu women

& TR PO BaIs O PRSI [BHHCoNHE

She converted to christianity

DEIDS VS 5058

I,

on

B, 2
gD

fuw
£

She started Sharada Sadan

TEF QR0 (ZrE0olEs

Correct Marks : 2 Wrong Marks : 0



Match the following

So& EHY eSNdhaw

List - | List- Il
i | smflme ||
1. Jyothirao Phule a. Cry of Indian women
S8 FO E oD z080ds &I
2. RamaBhai b. The future of Indian Politics
Baireeron & ool P 20800S FOEE)
3. R.M. Lohia c. Will to Power
ub. 5 &°8r5 DS &N HS
4. M.N.Roy d. ShetkaryaAsud
DeD. X, Todo %Eﬁ;ﬁﬁ; Yl
Options :
55213154305, | O: 2P, 3-a. 4-C
55213154306, 1702 2-d, 3-a, 4-C
55213154307, |~ 272, 3-C. 4-b
1-a, 2-d, 3-c, 4-b
55213154308.
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Gandhi wanted to evolve a ‘true democracy based’ on

SHDF) VP Pyt erdddSs

{'p,

Mo

Options :



Freedom and equality

i) 00Dy [
55213154309. == o

Non violence and Rights

@irod 0ochn Smnen
55213154310. 2

Mon violence and decentratisation

©2rod OO DZo\bBses
55213154311.

Meorality and Obedience
[8ZE O IPChS

o

55213154312.
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Which one of the following is not true about R.M. Lohia?
©8.08. F 2P Yonodod) JaIIe 06

Options:

supported full freedom in prnperty matters

SREDES DIHEDLS® TG WD o8
55213154313.

—
T el

!E'

He permitted the Individuals the right to resistance against authority

-

Dlmlcrietals
55213154314.

OS5l (HEHOT TERD YD
Equality and prosperity are not twins

PO EVIL N "53.1« anOCin & "D.:.Js;i el =
55213154315.



The four pillar state is based on the principle of division of powers

eld Sogre Trepsn efTrrrer dFad IrEEny ordSiad.
55213154316.
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Assertion (A) : The rise of British capitatism produced the political effect of the colonial rule in
India.

S83PER () : B8R igodeel $B PEEtED Soddred oresfot (P r00s8.
]

=

Reason (R ): The Indian national movement began in colonial India

w3 R): J08 FEELHENG 88 whD G FEZIE.

Options :

Both A and R are true and R is the correct explanation of A

A 080 R Dot &dp »0aw R, A 5 VOGS DB ==
55213154317.

Both A and R are true but R is not the correct explanation of A

A 50000 R Toth a.fdp s08cm R, AD DEEHS Daides
55213154318. ™ =

A is true, but R is false

A 2.5p == R 857
55213154319. > >

A is false, but R is true

A &5p =R R D
55213154320. L oE
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Assertion (A) : Revolutions alter the existing political system

DEFES (A) : DParen TIRFIHH m&%oﬂ: aﬁ;&igﬁ SR,
Reason (R) : Historically people across the world have sought change

DY (R) : OES0r @0 agor @Bues Tt SwdT.

"-"\

Options :
Both A and R are true and R is the correct explanation of A
A 3000w R Both 2.8p DO R, A B VOGS D3ves
55213154321. o
Both A and R are true but R is not the correct explanation of A
A 0000 R Botd adip H8a R, AD J0FHS DB 0o
55213154322. =
Ais true, but R is false
A 250 =20 R &85
55213154323. w w
A is false, but R is true
A &dp =0 R &
55213154324. =
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Which one of the following is not an in put identified by David Easton
GG S:YS rogod emtined® ti58 SR8,

Options :

55213154325.

55213154326.

55213154327.

55213154328.
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Demands for allocation of goods and services

- - -

SRpaden hlan RIven SaEredEan

Demands for regulation of behaviour

BHED Soogssn SHEBE

Demands for Communication and information
J5rerd SO0 (HrSSved STHstSEsw

Demand for material wealth
FaE HoHtsy SHsSGsw

Correct Marks : 2 Wrong Marks : 0

Which one of the following is not a property of political system as identified by Almond?

)08 9o

Options :

55213154329.

aqﬁf’m TReRCh S99 ¢ éeam 528

A
n.J ]

Interdependence

wosSTerEOED



Independence

“rSolgsm
55213154330. =

Comprehensiveness

S
55213154331.

Existence of boundaries

ROREDe &R
55213154332.
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Match the following

ol HY wEsthw

List-I (Group) List-1l (Example)
e - Jheiran i -l et
1. Institutional interest group a. Religious groups
Rorr [BEras Heasn 8 Shrdeaine
&
2. Non Associational interest group b. Political party
FONSES BRra Heasm oeesdad G
3. Associational interest group c. Demonstrations
FONS (DA Heasko BHeGKe
4. Anomic interest group d. Trade organization
B Bord (HAraxd resan S Ko
Options:

1-b, 2-a, 3-d, 4-c
55213154333.



1-b, 2-c, 3-d, 4-a
55213154334.

1-c, 2-b, 3-a, 4-d
55213154335.

1-a, 2-c, 3-b, 4-d
55213154336.
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Which is the best route to economic group according to theory of modernization?

:‘J%.’Siﬁﬁa mﬂoém‘mmw cué%a B a:niﬁwa, a8?

Options :
Colonialism

N SLSERLIAN)
55213154337.

Controlled capitalism

Qchol®d Denodort Dordan
55213154338. -

Industrialization

e LA le e
55213154339.

Unrestricted capital ism

©CLo|BE ENDETRC TP
55213154340.
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Which one of the following is not an important element of state identified by John Hall ?

PO 19008 tay Sngy ofnned w58 6

Options :

State as a set of institutions

Tregan HoRe KerEeainr
55213154341. = :

Territory

SHe3d0
55213154342.

State’s right to wage war
55213154343, '

State monopoly over rule making

DQBUNR Trey hEEfHE o
55213154344,
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Consider the following statements with regard to Wallerstein world system approach

FEORS (oS anﬂ.snr%vrie.e 185 Konodod (Bob wERned Hortoun

I. Core countries usually have democratic governments

wodbors trere6® ArrrSmanl Feramaly (Hehdines B0t
ii. Peripheral Countries have welfare services

m“%ﬂ?m e rooi.ci: IO
iii. Authoritarian regimes govern semi-periphery countries

Sletnl vt & o O OFSBIDN vl M;m F00hid

iv. Semi peripheral countries play crucial role in world economic systems

@t’n*@‘%ﬂmw Tresen (o ©fF & a‘j"éefﬁ" 808 P Fo

Options :

iand iv

i 200G iv
55213154345,

I, iii and iv

i, Tii a0 iv
55213154346.

iiandiv

li snOCoD iv
55213154347.

i, il and iv

i, i s00cio iv
55213154348.
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Correct Marks : 2 Wrong Marks : 0
Who defined social movement as “a network of informal interactions between a plurality of

individuals, groups or organizations engaged in a political or cultural conflict™?

wrezdad B5 ok )88 Nod® SRF0HR) aid S, Shrer TS Soger DR

B n.r.J—'

R

OFRES ) (P8I éo%ﬁo WaErEs atfid A8Holle.

=]

Options :
Wilkinson

=
::“D"ﬁ FStS!

55213154349.

Diani

ALOVILEY
55213154350.

Gusfield

55213154351.

Tarrow

e
55213154352, <0
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Match the following
S08 O wSHDw

List-l (Theorist ) List-Il (Theory )
el - I‘J*mﬂoéég i - || drpodin
1. The Hyper Globalist thesis a. Garret
T8 (Botdven RrFosin el
2. The Skeptical thesis b. Robert Reich
ROCFES RTEOSRD of 08
3. The Complex Globalization Thesis c. Rugman
X083 (¥Bodste REEOEn BHErS
4. The new institutionalist thesis d. Held
el ﬁomnri REPOS) B

Options :

1-c, 2-b, 3-a, 4-d
55213154353.

1-a, 2-d, 3-c, 4-b
55213154354.

1-b, 2-a, 3-d, 4-C
55213154355.

1-b, 2-c, 3-d, 4-a
55213154356.
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Find out reason given by Mosca for the elite domination and control in society

Brasng® 83 ©pBgm DO JahoBe TR RN SN Shrrddn

-
Options :

Superior economic strength

©o% ©fs ouk

WD

T

55213154357.

Superior Moral Strength

sdHE 8T e
55213154358. =

Superior Military strength

e e
sHE DS e

55213154359,  “

Superior Organization

Salsly S Dedw

55213154360.
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The author of ' The Peloponnesian Wars’
DO HINCDS 5) HYE Sesawes
Options :

Thucydides

SREE)
55213154361.

55213154362.



Condorcet
Bo0G 08

Aristotle

@G%ﬁé
55213154363.

Mencius

Eaﬁ;cﬁaﬁ
55213154364.
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In the past political struggle among nations took place not for power orinfluence but between
incompatable principles, according to
e tagaine dotf 20AY orabah Cintieien 08, (i B6% S, w808 Srgiine
06 O AN,
Options :
Moralism

eIl abY
55213154365.

Realism

TRDES TR0

55213154366.

Idealism

Llale)tvlatavi)
55213154367. &



Marxism

55213154368.
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Kenneth waltz constructed ‘Level of Analysis’ in his work

=
S)e ;
(=5 =

Sy ‘DFLee paned’ VGODS B
Options:

Man, the State and War

au

e - = =
S8, & RE ©o& 70

55213154369.

Foreign Policy and Democratic Politics

PJJ

OR PR ©of TarEas 085

55213154370.

Theory of International Politics

B9t &F
55213154371.

—_ .o =
OLITRNE PDES
[=9 D

+F

[y
£
L

The spread of Nuclear Weapons

(9
n

cHE IH®

& (8 «B &
L=

3
&d

55213154372.
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‘Democracies don't fight each other ‘is the cardinal principle of :

emresiy Goren #9 ot odotgaio 2EDd oD ow SRR SONS RCRoSiD,
=]

Options :
Meo-Liberalism
Ndire alioearetian

55213154373.
Idealism
ﬁcﬁc‘jﬁaﬂtﬁm
55213154374.
Neo-Realism
T sRSDEHETES
55213154375, VO FRSETEED
Social Constructivism
ParRE Q08 TR
55213154376.
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n a hypothetical nuclear war, counter value refers to

Hose mé @E&am*’&mﬂ“ (B8 ensd J00J8.

Options :

The strategy of attacking civilian targets such as cities

Stioreerod T8 ozmed T8 DaaEEEaw
55213154377.

55213154378.



The strategy of attacking industrial centers

- o »
FOFE SopreR AT e

The strategy of targeting the capital

TP R DA RS
55213154379.

The strategy of attacking nuclear installations

o FEEIOR 6 Vo FEeEw
55213154380.
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Which of the following treaties addressed the issue of elimination of intermmediate and short
range missiles.

Bod edotimed® HrEd DO oy
i\.-l =) o

B 850 0SS Sonododsd O

e,

Options:

55213154381.

START - |

>0 - |
oS3
55213154382.

START -1l

0 - Il
[2e] -5
55213154383,

55213154384.
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According to Feminism, the majority of victims in a war are

R U0 Siodtod cinlend” QBN LPHE0eD

Options :
Soldiers
A=
D U el el
55213154385. *=
Children
D s
55213154386, “=
Women
e E e
55213154387.
Men
4 [0 DEAVIDY
55213154388.
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Who is the author of the ‘Our Common Future’

‘R0 S Pl BSons

Options:

Boutros Boutros Ghali

20|eT%R w|EF®H 15O
552131543809.

Willy Brandt

DD (grol
55213154390.

Julius Nyerare

POAND FOO
55213154391.

Brundtland

ool
55213154392.
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Match the following
Sob =&Y wsddidin

LIST-I LIST-Il
08 - 1(%09) D8 - Il (ean)
1. European Union a. Toachieve greater Unity, cohesion and Solidarity among
members
aB*00T ofrREHT Segoressiney St X 098 - SodRn Sodnrsind
ol o abvy
2. BIMSTEC b. Fostering constructive dialogue and consultation on

political and security issues

doamaR dad oadad ook HEE diaired® dopdodw Hou
Klméwééé Rordeend Dot
3. African Union ¢. Toharness shared and accelerated growth through

mutual co - operation in areas of common interests
9BES COrRADN PO (BAreTe FEnd® S8 IFTih T

G 99 w0 Eongn Sobtin

4. ASEAN Regional Forum  d. Creating competitive market economy

DS B P 22 70 g ot
Options :
55213154393, |3 2°C 3-a, 4-0

1-c, 2-a, 3-b, 4-d
55213154394.

1-d, 2-a, 3-b, 4-c
55213154395.

1-b, 2-c, 3-d, 4-a
55213154396.
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Assertion (A) : The terrorists aftack on WTC on 9/11/1/2001 tarnished the image of The US
as the super power and had impact on international politics

BaRt5S (A) Sdomb 9, 20016° tepdR D aierts wb 6RO et DETEMD

FA

eodtrboh ralerep sy SR80,

Reason (R): Under the influence of revolution in ICT and globalization, the Capability of non-
state actors fo fight asymmetric wars and strike anywhere across the globe
has improved

-

P (R)  Saieoed 0388 DRn H0a (500580 Hrsing (Hhod sgor JTw

eRiiRd drpe SO HHe SF D TEES Soged WONTB

Options :

(A)and (R) are true but (R) is the correct explanation of (A)

(A) 308cim (R) &0 Toid ‘é@_@:ﬁ?} 08 (R), (A) B 0SS DSBes
55213154397.

(A)and (R) are true, but (R) is not the correct explanation of (A)

(A), (R) &0 JCTSD =0 (R), (A)D J0TS Ddes ==
55213154398.

(A)is true But (R) is false

.50 =0 P

55213154399. (A) b (R) éﬁw

(A) is false but (R) is true

(A) 80y =0 (R) 2.8y
55213154400.
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Who characterized non-alignment policy as ‘immoral policy’.

Ly

@83 IPIID oI8E rSSwn ©fN0odIs.

— E2

Options :

John Foster Dulles

ooy ﬁgﬁ KR
55213154401.

Winston Chruchill

DR BS
55213154402. o

Richard Nlxn

038 ;‘Jéﬂ:ﬁ
55213154403.

Mao Tse Tung

SrsF ehoh
55213154404,
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Under the US-India Civil Nuclear Cooperation Agreement, India agreed to
P58 o0 8 Sy o ‘”‘*ocﬁ.@@*' P58 ©olis0od

I.  Separate civil and military nuclear reactors
S SO0 PR OUrREED JtTiame

ii.  Putcivilian nuclear reactors for IAEA inspection

S Y aaiﬁ**f‘r@" e uCﬁFéfﬁm B0De

ji.  Putcivil and military nuclear reactors under IAEA inspections

B Q2o SR8 5 o em u@jj"’éfﬁ SO

b,

iv.  No conducting of nuclear tests

D uauéea %éﬂ%oﬁéﬁﬁmc‘im

Options :

i and ii are correct

i 500G i
55213154405.

iv is correct

v S
55213154406.

iii is correct

i sl
55213154407.

iii and iv are correct

i s0CG iv
55213154408.
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Assertion (A): Non - alignment is a strategy to pursue national interest in certain way
PEFEI (A) bod PRraretd of cat.’,@f? A0 ©dS ey o8 Fri
Reason (R ): It can be subjected fo modmca!mn as per the changes in international system

&3 (R) sopédd e & SrtheRRtod BR6° HKitned TSRS

Options :

(A)and (R) are true, but (R) is the correct explanation of (A)

(A) S08c0 (R) &0 Boh KOFTHPE 8 (R), (A) B [eFd Dades
552131544009.

(A)and (R) are true, but (R) is not the correct explanation of (A)
s5o13154410, (A (R)e2 LO@EH =D (R), (A)D Q000" Db =

(A)is true But (R) is false

(A) e.dp =D (R) 85y
55213154411.

(A) is false but (R) is true

(A) $3p =0 (R) ey
55213154412.
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Which of the following is a feature of Gujrat doctrine ?
S Jrrpod e
Options:
Non - reciprocity

DB BSES
55213154413.



Mutual tolerance

DEE VP30

55213154414,
Mon-interference in internal affairs
©OSES é;éﬁfﬁsiwﬂﬁ :%“5;3:.. oothe
55213154415. )
Equality
SearEaiedraln
55213154416. =

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.
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Singapore Lecture’ of P.V. Narasimha Rao opened India’s doors towards

ol e

2.9, 58%0:F0e) MoMIRS wiimeREng” PEshin minen 3D [EroSn
Options :
Southeast Asia

=

—a 2
Serrelev

.@‘"

55213154417.

East Asia

e".%':bfﬁoﬂz e
55213154418.

Asia - Pacific region

55213154419.



55213154420.
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India - Bhutan Friendiship treaty was revised in the Year.

“

PSS 2RERS 'F:::‘l;, 280NN RR00AR VoIS Baw
Options :

2004
55213154421.

2006
55213154422.

2007
55213154423.

008
55213154424.
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Consider the Following Statements

§od arsmoh H0rBodn

. The Kaladan frousport project is between India and Myanmar
Tt St (5 U8 Sobme Sif a)o

ii. India has Susta territorial dispute with Bangladesh
R (R85 Jartisn B8 DOPREY S BG

iii. India has joined Shanghai Co operation Organisation as full memberin 2018
Gpop HiFE oi 78 Fow K et 20186 0SB

Iv. India contributed to the financial resources of New Development Bank

o = i - - "
S BIBER08 w8 wls Sihedh PEEtdin SHErQNe
0l v

Options:

i, iiand iv

i, ii s00a iv
55213154425,

i and ii

s ielovsoll |
55213154426.

i and iv

I a0 iv
55213154427.

i, iii and iv

ii, iii s0Ocdw iv
55213154428.
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Correct Marks : 2 Wrong Marks : 0

Match the following

Bod OHD esNGham

LIST-I LIST-II

DS - | (cemew) 08 - I (85 dverren)
1. India and Nepal a. MitraShakti

POSGESD 00 Feod Q|
2. India and Srilanka b. Vajraprahar

FOERISD Hea Geod Sle (6
3. India and Britain c. Suryakiran

POSRII oo DS "éﬁé;%éﬁ
4. Indiaand Indonesia d. Garudashakhi

30805 HOH oGNP pleblniRCl

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :

1-b, 2-a, 3-c, 4-d
55213154429.

1-d, 2-b, 3-a, 4-c
55213154430.

1-b, 2-d, 3-a, 4-c
55213154431.

1-c, 2-a, 3-b, 4-d
55213154432.
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Which of the following is not a reason for India's Look West Policy?

=} . < . wdr @ - i -
ROEUEY) DR KON eSS sdran PR
=]

rf
Tt

Options:

Competing with America

OO AN
55213154433.

Scope of Influence

[Bgrsd DXBes DLH
55213154434,

Close Links

ﬁr‘;‘jﬁ‘. Lonowre
55213154435,

Pathway to other Areas

288 |Tromre Sredan
55213154436. ©
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Agreement on the Maintenance of Peace and Tranquility along the line of Actual control was
singned in 1993 between

& dabolges B 3t 08 HOak Hwoss D8R Lot 19936° & wepsive D

o

20AR8
Options
India and Pakistan
208a5® O 8T
55213154437. =
India and China
2060 Shiom B
55213154438.
India and Nepal
208G HOGD Jard
55213154439,
India and Bangladesh
So8CT O DOrPRS
55213154440.
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Match the following

el

Bod THY wSHBDhaw

LIST-I LIST-I
88 - | (Doghes) o8& - 1l (Ko Bam)
1. Non-Co operation Movement a. 1916

[RIFCH Joedte edirshan
2. Lucknow Pact b. 1905
5% a.)0t0

3. Partition of Bengal c. 1920

4. Civil Disobedience Movement d 1920

TRT Qoo B

Options :

1-b, 2-a, 3-c, 4-d
55213154441.

1-d, 2-a, 3-b, 4-c
55213154442,

1-c, 2-d, 3-a, 4-b
55213154443.

1-a, 2-c. 3-b, 4-d
55213154444,
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Arrange the following in chronological order:
Bod Jopéode sreSibained rHiosysn
i. Dandi
wlelatoviglfs
ii. Simon Commission

I S T S e N —y
Joldnd STANSIN

iii. Poona Pact

P 2.8)0tiD

iv. Gandhi- Irwin Pact

rod - 3R adotsam

Options :
ii, i, iii and iv
i, 1, il S0 iv
55213154445.
ii, i, ivand iii
Hoi i e ey
55213154446, @ 7 " eROG. i
v, iii, iand i
55213154447, V- il 1 000k i
v, iii, liand i
v, iii, i o005 i
55213154448.
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Which of the following rights was described by Dr. B.R. Ambedkar as the heart and soul of the
Constitution?

2 PER wolt)f ol & tiadain 0k e Sgolmd

hﬁ'

Options :
Right to Freedom of Religion
08 ) Fegi=e)
55213154449. = 7
Right to Property
e o)
55213154450. -
Right to Equality
DRy T
55213154451, = =
Right to Constitutional Remedies
oeegol 0SS HeE)
55213154452.
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Anti-Defection Law was placed in :
5"% TPoNOY I 5650 SPothHBERGN
Options:
The Preamble

5835
55213154453,



The Fundamental Rights Chapter in the Constitution

FEE TEnen
55213154454, =

The Sixth Schedule of the Constitution

e Trren
55213154455, =

The Tenth Schedule of the Constitution

555 oS
55213154456. =
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Which of the following pairs is incorrectly matched?

BobarRS® KOrp 8s8H55A

Options :
Article 243A: - Gram Sabha
(8820 243 2 PRy
55213154457.
Article 243B . - Constitution of Panchayats
H8800 243 & Horable Joven
55213154458. >
Article 243 C: - Composition of Panchayats
(5880 243 D Horrdhée oo

55213154459.



Article 243D . - Authority and Responsibility of Panchayats

(580 243 & Horande wdsrorey HOCW ogtaly Ly
55213154460.
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“India has a federation with a strong centralising tendency”. Who made the Statement?

‘P Biiray 20T SoHE G SONRG” ©d DEA

= -,

Options :

Srilvor Jennings

wE 058 E??Ja:nﬁﬁ:
55213154461.

K.M. Munshi

B. oo ;JLQ
55213154462.

Jawaharlal Nehru

25P0erd I
55213154463.

Granville Austin

(PODY RS
55213154464.

Question Number : 117 Question Id : 55213113872 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

Under which Article of the Indian Constitution is there the provision for having the Election
Commission of India :

Options:
Article 320
[BH88easn 320
55213154465.
Article 324
@éémm 324
55213154466.
Article 326
S50 326
55213154467.
Article 330
(23880 330
55213154468.
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Match the following:
Bod D westdhaw

LIST-I LIST-II
=l - | =l - |l
(Features of the Indian Constitution) (Borrowed From)
(ceorf edmane) (R5009%8)
1. Fundamental Rights a. UK
oS Hne a3
2. Parliamentary Form of Government b. USA
Fgmonl S5 (dedenain oo AR @
3. Emergency Provisions c. lIreland
V& FE HORBINOEE oojlel
4. Directive Principles of State Poicy d. Weimar Constitution of Germany
u0ds dripe 280 a8 TreoniEn
Options :
1-b, 2-d, 3-c, 4-a
55213154469.
1-a, 2-b, 3-d, 4-c
55213154470.
1-b, 2-a, 3-d, 4-c
55213154471.
1-c, 2-a, 3-b, 4-d
55213154472.
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Who said the “Indian Constitution estabilished a unitary State with subsidiary federal features
rather than federal State with subsidiary unitary features?

“pldTaroniin ednol DE0(ts e:éra-s&m:éﬁ iR Sy Trordn 59) edaol ey

< Al R Lo Ly P fen TO L BN 008
vFaoen SONY AESoiorarintd aTeien TRNA” o TG,

Options :
Granville Austin

PSDD RS
55213154473.

Ivor Jennings
938 BYR)
55213154474.

B.R. Ambedkar

8. 5. @oficﬁﬁ
55213154475.

55213154476.
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The idea of ‘Welfare State’ in the Indian Constitution is enshrined in its:
B8 TeToNang® (FATTORe PRIRD EPODHSNNG
Options :
Preamble
O]

P_- ]

55213154477.



Directives Principles of State Policy

@88 Solmren
55213154478.

Fundamental Rights

TEDE s
55213154479. *

Seventh Schedule

b Tty E:cfce;ﬁ
55213154480.
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Political Parties are generally formed on the basis of :
rorsasn orabod %E@, DL STREED
Options :
Religious Principles

55213154481.

Common Interests

<

e ([BHarazRiaoen
55213154482.

Economic and Political Principles

a0 Hoam oradad Krgsnen
55213154483, <

55213154484.
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Match the following

Eod THY S0

LIST-I LIST-II
D8 - (atisdn) e - 1l (FrodBHtd [ eahiioeen
1. Chipko Movement a. Medha Patkar
£I5F), Btiahan e Hend
2. Narmada Bachao Andolan b. K. Chandrasekhar Rao
S 0mS eolfEd B, Sol3es o=
3. Telangana Movement c. Sunderlal Bahuguna
Beorrn B KootBerd dorbes
4. Rightto Information Movement d. ArunaRoy
RSPl ) eishdn ©BETT D
Options:
1-d, 2-a, 3-b, 4-c
55213154485.
1-b, 2-a, 3-c, 4-d
55213154486.
1-c, 2-a, 3-b, 4-d
55213154487.

1-c, 2-b, 3-a, 4-d
55213154488.
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Who has written the book ‘Labour Problems in Indian Industry’?

"'-.n- — =, * ME\. - 2, = -'\L B! < -2
Tl (@) a8 308D BoUR e YIS Sond

Options :
S.A.Dange
- =
55213154489, ©~-% TO7
S.M. Joshi
DR, &5
55213154490.
V.. Giri
.8, A
55213154491.
Jyoti Basu
f;&é Ao
55213154492,
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Match the following
Bod HY wSHBDhaw

LIST - | (State Party) LIST-II (State of Origin)
=iz -1 () Do - Il (05850 g
1. National Peoples party a. Bihar
F3E D98 & %8
2. All India United Democratic Front b. Haryana
©d B0GAT CWRBE TIrEHE ok Copleriec
3. Indian National Lok Dal c. Meghalaya
208008 J89S &6 ¢ DEredH
4. Rashtriya Lok Samta Party d. Assom
oelgaad 675 Haoss axf oD
Options :
1-c, 2-d, 3-a, 4-b
55213154493.
1-a, 2-b, 3-c, 4-d
55213154494.
1-d, 2-c, 3-b, 4-a
55213154495.
1-b, 2-d, 3-c, 4-a
55213154496.
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In Which year the Bahujan Samaj Party was formed?

- E Dnf Dy avfipn Bl ol m L ad ad
0N Bard SRL FHOBOED DoRE B

1982
55213154497.

1983
55213154498.

1984
55213154499.

1986
55213154500.

Question Number : 126 Question Id : 55213113881 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
The vote share of the BJP in the 2014 Lok Sabha elections was:

2014 &8 ¥ AYES® &AL wEearf L TE0

Options:
20 percent
o = <
55213154501, 20 TEE0
30 percent
0 =eedam
55213154502.
31 percent
3155

55213154503.



33 percent

33 D&
55213154504.
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Match the following

Bod HY wSHdh

LIST-l (Act) LIST-Il (Year)
=08 - | (Si:m) 08 - |l (o s

1. The Scheduled Tribes and Other Traditional Forest Dwellers Act a. 199
ARS8 ol otid BENS 30 wrel) o

2. The Panchayats (Extension to the Scheduled Areas) Act b. 1927
HOTPARE) (“E‘ﬁim & & mcfcnﬂeﬁ quﬁﬁr)Q.J’

3. The Indian Forest Act ¢. 2006
Bt E o B
& 206N @“6:\35 oW =

4. The Land Acquistion Act d. 1894

& ool o) ﬁ?’qa Céﬁg

Options :

1-c, 2-a, 3-b, 4-d
55213154505.

1-a, 2-b, 3-d, 4-c
55213154506.

1-c, 2-b, 3-d, 4-a
55213154507.



1-d, 2-a, 3-b, 4-¢
55213154508.
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Which of the following is the oldest Trade Union Organization in India?

P L R NP
PEERTNE” Jores 08 ND
[

Options :
Indian National Trade Union Congress (INTUC)

(=]

MC'EE.*G::JJE Fu_ﬁ "».IE'.?' é-u'E dl?c"’%“ (33 mn.- & Ao Erb}

3

552131545009.

Centre of Indian Trade Unions (CITU)

2ol ef 208008 (B¢ crlohs (B 0 & oin)
55213154510.

All India Trade Union Congress (AITUC)

oS 208> @8 CHrIchR ol (2 0 & i )
55213154511.

Bharatiya Mazdoor Sangh (BMS3)

580D el Sod (B 0 JAN)
55213154512. =
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Which one of the following is not a peasant movement?
Bod =2E° Bororl atshan =28

Options :
Tebhaga Movement

Sorre SErshan
55213154513. =

Kheda Movement

o ety
55213154514,

Champaran Satyagraha (1917)

SSoarses D& (1917)
55213154515. ™

Tabligh Movement

E":.ﬁ.;ﬂ ﬁsiﬁ SaDaa
55213154516.
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Which one of the following is not an NGO campaigning for Human Rights?

SRS TR B5Gan H50%0 o8 Bog 6

-

Options:
Amnesty International
@__’_ﬁ‘.\g.. Ho&d\ﬂ‘:\&_
55213154517. e

Human Rights Watch

55213154518.



= L

Sl
55213154519.

OXfam
5>

Tl

55213154520.
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According to Mary Parker Follet there are three methods of managing a conflict and they are

@6 P85 304 [P0 g G Sree Srth ©d

Options :
Domination, Compromise and conciliation
LEBEr0, Ve DO SorrPdiES
55213154521, -
Domination, Compromise and Integration
©dHE0, Haren HOA HE5Be
55213154522. = =
Domination, Integration and Conciliation
©hHE0, DE5EL HOE BoTanES
55213154523.

Domination, Arbitration and Conciliation

sQDBE0, DErHiE o DO VorrahEs
55213154524,
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Who is the author of the book “Public Administration and Public Affairs?

085 oBHIRES vof HPE B Koty J5tw?

fJ

Options :
Dwight Waldo
a8 g
55213154525, =~ =
George Frederickson
=5 (K0S 35
55213154526. Rt
Nicholas Henry
0800
55213154527.
L.D.White
6.8, 35
55213154528.
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The Concept of “Zone of Indifference” is associated with which one the following as per Chester Bamard?

36 o5 efErdbod’ “omigs 105" S GRE° sl 6)e?

Options :

55213154529.



Accountability

o
= - = 5 v, S,
elarred TIPU €%0doddd

Authority

oo
55213154530.

Leadership
TPCRES S0
55213154531.

Motivation

(Zo6es
55213154532.
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Match the following:

S0l PED wsHthn

List - | (Authors) List - Il (Books)
588 - | (0B Eden) 588 -1l (fofEoen)
1. Thomas Dye a.  Public Administration in a time of Turbulence
w0 B 55 olRRET ot 2 Ho ¢f ety
2. Dwight Waldo b.  Reinventing Government
as = & srodioR 8o
3. Leonard .D White ¢. Understanding Public Policy
Or0.365 wotiS srofion g5 aFDR

4. David Osborne and Ted Gaebler ~ d. Introduction to the study of public
Administration

Gk ot b Hoa & nigd BSOS €v & §6 o B85 eBAYES

Options :

1-c, 2-a, 3-d, 4-b
55213154533.

1-c, 2-a, 3-b, 4-d
55213154534.

1-c, 2-b, 3-d, 4-a
55213154535.

1-b, 2-C, 3-d, 4-a
55213154536.
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Match the following

Sob O 2EDGaw

List - | (Writers) List - Il (Concepts)
H8E - | Bomen B8E -1l e

1. F.W Taylor a. Politics- Administration Dichotomy
CD%. Say Hed oradaimen - e BrgPrigaio

2. HenriFayol b. Administrative Management Theory
=R D ai=S Fome AT GESo

3. John M. Gaus c. Work Management Theory
2n ODO. PR Y A Feee vrpodsm

4. Frank Goodnow d. Ecology of public Administration
gro8 HEY B ol BoOJTe BELEHI0

Options :

55213154537, "¢ 270 3-a, 4-d

1-C, 2-b, 3-d .4-a
55213154538.

1-b, 2-c, 3-d, 4-a
55213154539.

1-b, 2-c, 3-a, 4-d
55213154540.
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Relevance,Equity, change and social justice are the focus of
eHAES, Jbs, P8y Do FErES Trabo D & Bol Hotbyen
Options :

Traditional Public Administration

BoDoecd (Pehed e
55213154541. ™

New Public Administration

SeES (D0Earos
55213154542.

New Public Management

rSES (Piher e
55213154543. =

Comparative Public Administration

HoTES (DB o
55213154544. =
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Arrange the following theories or concepts relating to the evolution of the discipline of public

administration in the correct chronological order

BIDS5R DR REpOEe) 0% paSSerd (B0 are

3y
L=

éfﬁ;ﬁﬁiﬁ:;ﬁw,
. Classical Theory
Roerdd ?cm;oém
i. Human Relations Theory
AR NODOTPY %:m;oéé;a
fii. Politics - Administration Dichotomy
oaddire e Brgpridsi
iv. New Public Management
RS (80 A0

v. New Public Administration

S (DR

Options

i, ii, iii, vand iv

i, ii, iii, v s00cw iv
55213154545,

iii, ii, i, vand iv

iii, i, i, v snOc iv
55213154546.

i, i, 1i, vand iv

iii, i, ii, v a0 iv
55213154547,

iii, i, ii, ivand v

lii, i, ii, iv s00c50 v

55213154548.

d
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&,
quF\

)

Jgo6* 8 JeTH) Foliod®
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Match the following

Bod T 22805 thaw

List -1 (Writers) List - Il (Theories)
DR - | Bilownden H8E -1l & r::nce‘.‘ééxnaa
1. Gary Beeker a. Development Administration
710 286 D58 oS
2. Herbert Simon b. Rational Choice Theory
&"ﬂéﬁ 0N ol v cf, NODE WFOSBI
) T [
3. Elton Mayo c. Neo-Classical Theory
"_““ DT Qe PolPTead & mﬂoéa::.:
4. Edward Voeidner d. Decision -making Theory
258 DB DarELes Drposn
Options :
55213154549, | P+ 270 3-8, 4-C

55213154550, 1-P.2-d, 3-c, 4-a

55213154551, 1-b, 2-c, 3-d, 4-a

1-d, 2-b, 3-c.4-a
55213154552.
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Assersion (A): Comparative Public Administration is a Cross Cultured and Cross-National
study

B8RS (A) : Do Hehdred 1) Sopdw, dpede Ddosd i

Reason (R): F.W Riggs was the first chairman of the comparative Public Administration
Group
) (R): 097 oy OF) HoTds e e goto ) [ etHi.

Options :
Both( A)and (R ) are true and ( R ) is the Correct Explanation of (A)
A o0 R Dot edp spldim R, A B B0G0S D58
55213154553. =
Both A and R are true and R is not the correct explanation of A
A o0a» R Botd adp R AD S0T0D Dddes oL
55213154554, e
Als true, but R is false
A e.p =R R 82y
55213154555.
A s false, but R is true
A 83Jp =0 R aQp
55213154556.
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Which, among the following, are true about the Decision-making theory of Herbert Simon?

)3 Do MorrSde derodiy fHiod God FHE° DD adp
. Itis a post-behavioral theory

3h PagTat ©iodd Rrpodan

ii. Itis based on Value fact dichotomy

26 Deoden - Gfmcne.u iy errsiiin

iii. It believes in the possibility of 100% rationality in decision-making

= :ﬁgwéfﬁmiﬁ "féo‘f.;ﬂgiﬁéac:-gé RRULHR FA0T0B.

lv. Decision - making is a process comprising of three stages viz., intelligence stage, Design
stage and choice stage
aurdsnd” Srtd SN0, 6D SoDDER) F, Grd¥e) Y DOk o §E

O

Options :

i and ii

| a0 i
55213154557.

i and iii

il a0 iii
55213154558.

iand iii

i 000G iii
55213154559.

i and iv

i s00aw iv
55213154560.
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Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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The Consumer protection act was enacted in the year

D@ HOSEL 560 ) Doud o

Options:

1980
55213154561.

1984
55213154562.

1986
55213154563.

2014
55213154564.
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Brundtland Commission Report is related to

@0 erol E0ES RS &8 KonofodNe

Options :
Sustainable development
?C*o?’_\zcnﬂai&ﬁ&

55213154565, < -

Socio-Economic Planning

FErES - ©fd e85
55213154566.



Disaster management

Hodéne Doho|se
55213154567.

Third- World development

E‘.‘iu.d.."l (BDHos (Hne
55213154568.
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What is not true about the Lokpal?

Options :

It is institution created by the Lokpal and Lokayuktas Act, 2013

286 535, Sraindhe Swo, 2013 troe doEEn Thndod.
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Lokpal was appointed immediately after the enactment of the Lokpal and Lokayuktas Act, 2013

655, Soinde S50, 2013 eHwE™S I Joad 6FFED AadoTH
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A few states have appointed Lokayuktas

T clapey 5 wonHod dchoran
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Ombudsman is the inspiration for the institutions
wonl) DT S FHH (2B
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Which one of the following is not true about the NITI Aagog?

Bod &E* A& e@rR 900D efrid D&?

Options :

It has its headquarters in Delhi

69 [Bers sroreabo §OE° wod
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It was established on 2™ October, 2015

o) ©F s 2, 20158 Fhowd
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It has replaced the Planning Commission

Bee@se Koo r%;f\.]ﬂé; &) T
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It is headed by the Prime Minister

20 [BS Do@ o Ess” HATRos
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What is not true about the Public interest Litigation in India?
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Options :
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It is a method of Judicial Control over the Executive
38 o8 S e TdD e JoboE@n el FEI0

The first case of Public Interest Litigation was filed in the Supreme Court before Justice

P.N. Bhagwati
e AP a8 Konofods &9 B Bfo E‘Ge; 08RG &R .00%. a8
ECOTFD.
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Letter and Telegrams addressed to the court have been taken up as Public Interest
Litigation petitions

S Q000N adore, SD[rie (G Bares s HESHE E0sndsD.
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A Public Interest Litigation Petition requires the prior permissions of the Lokpal

e (Dame 'ﬂ“eavaa Ko20008 AN &S @) 0Ot B8 aed.
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The public policy model advucated by Charles E. Lindblom is
T80 ©08 o VRS TS (B0 DS S
Options :
Elite Theory
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Group Theory
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Systems Theor
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Increamentalison
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Which one of the following is not a feture of Good Governance?
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Options :
Responsiveness
210803 LoD
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Accountability
aarntrRs S50
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Transparency
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Hierarchy
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Assersion (A) : The 73" Constitution (Amendment) Act gives Constitutional Status to the
Gram Sabha

BN (A) 1 738 oeamor 6 S0 (P 4 ool (H808R R0
Reason (R) : The Balwantaray Mehta Committee Report made a formal mention of the

Mandal Panchayat
5 R): 20108 D e 508 D88 SokdHomddE Ko 9 §)fore D08,
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Options :
Both A and R are true and R is the correct explanation of A
A Oci® R Botd a.5p sn0diw R, A B V0GR DS8es
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Both A and R are true and R is not the correct explanation of A
HCO0 R Bod e.dfp O R, AD 0TS DB oD
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A'is true, but R is false
A 250 =0 R 85p
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A is false, but R is true
A &&p =°R R &y
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There are four types of inter actions in e-governance .They are called

2
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Options :

G2C, G2B, G2Gand G 2E

G2C, G2B, G2G sbbaim G 2E
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G2C, G2B, G2Dand G2E

G 2C, G 2B, G 2D 0o G 2E
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G2A, G2B, G2Cand G2E

G2A, G2B, G2C »odiw G2E
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G2A, G2B, G2Cand G 2D
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The Comptroller and Auditor General of India does not audit the receipts and expenditure of
P8 Tofets - el avtw D8 ewrcd oo wiin Tabro 2N
Options:
Municipal Undertakings
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State Governments
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Government companies
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Government of India
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